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printf(control_string, other_argument)

- Of
printf("she sells %d %s for $%f'", 99,
"sea shells", 3.77);

control_string: "she sells %d %s for
$%T"
other_arguments: 99, "sea shells", 3.77
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printf("she sells %d %s for $%t", 99,
"sea shells", )

HeF oA | TS QXY
%d 99

%S "sea shells”
%t 3.77
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printf()
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char c¢c="A', s[] = "Blue moon!";
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%3S S "Blue moon!" 5710 4 & st

% .63 S "Blue m" HaE 6

%-11.8s S "Blue moo " HAUE 8 = FHE
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printf()

it 27| 9

int 1=123;

double x = 0.123456789;
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scanf(control_string, other_argument)

- O
char a, b, c, s[100];
int n;
double X;

scanf ("%c%crkhcrdiBs%1 ",
&a,&b,&c,&n,s,&x);

* control_string: "%CI6CHC%d%s%1 "

- other_arguments: &a, &b, &n, s, &x
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scanf() Ol A

int 1;

char C;

char string[15];

scanf("%d , %*s %% %c %5s %s'", &1, &c,
string, &string[5]);

*UH AER .45 | qgnore_this % C

read_1n_this**

=1 1 45

o C : C

- string[0-5] : "read_ "

- string[5-14] : "in_this**"

- scanfO= 45 Z|H
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sprintf()/sscanf()

« ZtZE printf) 2} scanf() e T+2| =Xt<€ HH
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int sprintf(char *, const char *, ...);
int sscanf(const char *, const char *, ...);
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fopen()

- fopen® 7t /W YO dSSIH AERMAS B0 NS 2 QIS 2[HTHT
Cmmele) | o1z
2] qﬁ AEZ2[ TJQ | ssasssuss
- 2EROAU2 0| & XME5t= HELt Hi S &2|5t= o2 BE S ot
e FZMH0 X Fotn Q=0 o] L =M|H2f ZAE|7} op Y O] F
O|C}.
Nambes bl struct _iobuf{
- HiT char *_ptr;
==-I8 I | int _cnt;
char *_base;
e e £ 190) int _flag;
R ] int _file;
_________________ int _ charbuf;
int _bufsize;
char *tmpfname;
e SRS 3

typedef struct _iobuf FILE;
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FILE *fp;
fp fopen(“a txt”, « ”),

-2 ZOIEE AI5IH Al
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fp = fopen(“b.txt”, “r”);
if(fp == NULL){
printf(“ILt A 0| 1= L|C}.”);
return 1;
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FILE *fopen(char *, char *);  //file open, 3} 7j4}
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ifp=fopen(“a.txt”, “r”); /] LT 7| Mo R J|dtstirt,
if(ifp==NULL){ // THYEO| Qo™ ZHAM2 &

ofp=fopen(“a.txt”, “w”); //O| Il CtA] 27| HE O = J|{*45tCt,
H
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fopen()/fclose()

- WY Ho|ef Bl HFHQI oH 2 =
#include <stdio.h>
int main(void){
int a, sum = 0;
FILE *ifp, *ofp;
1fp = fopen("my_file", "r'
ofp = fopen("outfile”, "w'

D
)

fclose(i1fp);
fclose(ofp);
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fopen()/fclose()

#include <stdio.h> // FILETZ |0 Ci3t & Molo] mste|of Qlc},

int main()

1
FILE *ifp, *ofp; // FILETZH| ZQIE{Ha A
ifp=fopen("a.txt", "r");  //amxtTYS 7| HE2 = Y
if(ifp==NULL){ // SOl gloH EHA2 H

printf("YH o L0 WL K| RASLICE\n");  // ot A X| S
return 1; [/ ERIY SR
¥

printf(" Y Hu} L o] 7L k| SLICL\n");
ofp=fopen("b.txt", "W"); //p.ixt YL M7| HBO = ey,
if(ofp==NULL){

printf("SH L}t U 0| JHYE|X| EUASLICL\n");

return 1;
h
printf("EH oAU 0| J|UE| A SL|CE\n");
return o;
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o

FILE *fp;
int res; // fclose 2| 2|HZt S MY Hy
fp=f0pen(“a.txt”, “I’”), // .I.I.|-°| 7|.|H|-

res=fclose(fp); /] St ZOIE{H = fpE MEQXIE F1 utY S =},
if(res!=0){
printf(¢“ILt A 0| T X| LAAUSLICE\n”);
return 1;
¥
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fprintf()/fscanf()

- ZtZ} printfQ 2} scanf() 2| ot H

. Sk 9l

int fprintf(FILE *fp, const char *format, ..)
int fscanf(FILE *fp, const char *format, ..)

. fprintf(stdout,...);2} printf(...);= €= 2|0|

. fscanf(stdin, ...);= scanf(...);2} €= 2|0|
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fprintf()/fscanf()

. fscanf, fprintf&£ scanf, printf&=2} AF2Ho0| ZCt, ¢, Y&
CH &= ot = QIE| 2 X|doll = + QULCE.

int fscanf(FILE #, char *, ---); // tollA F&lof w2} HIojE
int fprintf(FILE *, char *, ---); // Tt¥2 A0 w2} ojo| g &3

- fscanft £ C|0|E{Q] 20| BLIH -4 2|EstC}.
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fprintf()/fscanf()

#include <stdio.h>

int main()

{ o
FILE *ifp, *ofp; while(1){
char name[20]; res=fscanf(ifp, "%s%d%lf", name, &age, &height);
int age; if(res==EOF) break;
double height; fprintf(ofp, "%.11f %d %s\n", height, age, name);
int res; H
ifp=fopen("a.txt", "r'"); fclose(ifp);
if(ifp==NULL){ fclose(ofp);
printf("UH It 7Y . \n"); return o;
return 1; ¥
¥

ofp=fopen("b.txt", "w");

if(ofp==NULL){
printf("SH It 7Y A I{.\n");
return 1;

¥



int fputc(int, FILE *); /319 #2112 392 £33}

- R W HEUXGE FOX|= XS F HM HFAUX ofd = &

- 7|EEE28EH U=E|= H0[EE TtU 2 EFHo= o

#include <stdio.h>

int main()

{
FILE *fp;
char ch;
fp=fopen("b.txt", "w");
if(fp==NULL){
printf("I+Y 'Y A T{.\n");
return 1;

}
printf("HI0|E{ S Y23t 2.\n™);

while(1){
ch=getchar();

2{$tC},

[

/] F|HE

if(ch==EOF) break;

fputc(ch, fp);
¥
fclose(fp);

return o;
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char *fgets(char *, int, FILE *); //3tdox £29& 9lo] E4Ith
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fgets()

. fgets®T= EXAIE UH| $M = TR = Y =Lt
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FILE *fp;
char str[10];
fp=fopen(“a.txt”, “r”);

fgets(str, sizeof(str), fp); strefg |m|o|n|k|e|y\n\0|?|?
- A T2 EXIEOA ME EXH7 EE 2 O{o= H| A etct.

str[strlen(str)-1] = ¢ 0’;

str (B M MZ EX17F HEE 2 X[2] ®X}7L sl TICt
strlen(str) A2 X} MK 2| HEO|E 5~ 7
strlen(str) -1 6 MEZ 2Xt7F M ZE /1 X[2] HX}
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char str[80]; EEREEE D

monkey and tiger
fgets(str, sizeof(str), fp);

ol 24

Ol 24 1} O| | 0| E{ 7} 8oH}O| E 7} Qtk| B 2 ) VK| Y= ElChH

H -
[ ]

fgets®& 2| 2| &k

2t S Y=o ufEe| = QIE{o|C, wi2tAM Q= o| Bt
20| HtE 0] Z£QIE{E A8l ZXES ST = ULt
printf(“%s\n”, fgets(str, sizeof(str), fp));
- QY=ntofM I o]4t ¢10] S IO|E{ 7 gl 2 ZQIE & 2| fictrt.
(- (EOF)7f ofL| B = F2o|$tC}!)

res=fgets(str, sizeof(str), fp);

if(res==NULL) break; // it2°e| Zo|H ¢
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fputs()

- EXES o0 9 & W= fputs& S AHESICL

int fputs(char *, FILE #);

// GEE EXES EF T}

FEX } 29| #X|E F1 F Hmj @2AX= o
et= Eel XAtS2 2 F35 HHX| =L

FILE *fp; /] EHUY EOIE{H A

char str[] = “orange”; /] S OO|E{ 7} M & El Ui H, X7|2}stC},
fp=fopen(“b.txt”, “w”); //LILS EHECE Y

b.txtotY

orange

fputs ( str, fp);

ST Yo hE Y



#include <stdio.h>
#include <string.h>

int main()

{
FILE *ifp, *ofp;
char str[80];
char *res;

ifp=fopen("a.txt", "r");
if(ifp==NULL){
printf("¥H oA 4L HIf.\n");
return 1;

¥

ofp=fopen("b.txt", "w");
if(ofp==NULL){
printf("EH I} 7 AT \n");
return 1;

¥

while(1){
res=fgets(str, sizeof(str), ifp);
if(res==NULL) break;
str[strlen(str)-1]="\0';
fputs(str, ofp);
fputs(" n’ Ofp);

h

fclose(ifp);
fclose(ofp);

return oO;
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int num;

char name[20];

printf(“3HH e YN : »);
scanf(“%d”, &num),
printf(“0|] 52 YLHSIM K : ”);

fgets(name, sizeof(name), stdin);
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fflush()

- fflush@+£ HI0| =0} = =20 O|0[E S A},
int fflush(FILE %);  // 2E™THUC| HTE HIYZCt.

int num;

char name[20];

printf(“sHH S UHSIM 2 : »);

scanf(“%d”, &num);

fflush(stdin); //scanf&+2} gets®+7} S/ot= B#E US| 2ERH I E H| 2L,
printf(<0| S8 YHBHR : »);

fgets(name, sizeof(name), stdin);
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- Ttell(file_ptr)
- Uk P{X| X[A|Xre| &AM 4= 2[E
- fseek(file_ptr, offset, place)
o O 2 X| X[A|XHE placeF H offset HIO| E EO{ T
X= LIEIL = U2 28
> place®| Zt2 o(SEEK_SET), 1(SEEK_CUR),
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#include <stdio.h>
int main(void){
char fname[100]; 1nt C;

FILE

*ifp;

fprintf(stderr, "\nInput a filename: ");

scanf("%s", fname);
1fp = fopen(fname, "rb");
fseek(ifp, 0, SEEK_END);
fseek(ifp, -1, SEEK_CUR);
while (ftell(ifp) > 0) {

c = getc(ifp);

putchar(c);

fseek(ifp, -2, SEEK_CUR)
return 0O;

; )
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proverb.tx

{

#include <stdio.h>
#include <string.h>

int main(void)

FILE *fp;

char fname[128];
char buffer[256];
char word[256];
int line_num = O;

printf("Y = L o] & A2 ")
scanf("%s", fname);

printf("B A Fol & AH A 1),
scanf("%s", word);

" A chain is only as strong as its weakest link
A change is as good as a rest

A fool and his money are soon parted

A friend in need is a friend indeed

A good beginning makes a good ending

A little knowledge is a dangerous thing




/1 THY S 20| LEZ AL
if( (fp = fopen(fname, "r")) == NULL )

{
fprintf(stderr," It 2 %s= £ == S{=LICEH\n", fname);
exit(1);
}
while( fgets(buffer, 256, fp) )
{
line_num++;
if ( strstr(buffer, word) )
{
printf("%s: %d St %s0| &2 T A SLICEH\n", fname, line_num, word );
3
}
fclose(fp);
return O;

2/8 o2 O/5Z 2/5/5[A/2: proverb.txt

Ef‘/‘” st EfofE O’ z, 0//(/_92: house

proverb. txt: 7 E/‘ 0/ house 0/ 2/ A%/ Q= L/Cf.
proverb.txt: 8 £/0f house O] &7 %/ Q& L/CF




int main(void)
{
FILE *fp;
char fname[100];
int number, count = 0;
char name[20];
float score, total = 0.0;

printf("& & It 0|S= =oAL 7);
scanf("%s", fname);

/I &8 UedE M) 22 ALY,

if( (fp = fopen(fname, "w")) == NULL )

{
fprintf(stderr,"&d & It %s= & ==
exit(1);

& LICH\N", fname);




/] NBTZEE 8, 0|5, A= 2 A2AL0tA T 0ol X & &tCt
while( 1)
{

printf("sf&, 01§, &8 = g=otAK: (5018 S8)");
scanf("%d", &number);

if( number < 0 ) break

scanf("%s %f", name, &score);

fprintf(fp, "%d %s %f\n", number, name, score);

3
fclose(fp);

/[ 88 IEsE )| EE=2 ALY

if( (fp = fopen(fname, "r")) == NULL )

{
fprintf(stderr,"& & Ut %s= & = 21 =LICEH\Nn", fname);
exit(1);




/] WEUHAN 883 HAM E2 S +etlt.
while( !feof( fp ) )
{
fscanf(fp, "%d %s %f", &number, name, &score);
total += score;
count++;
3
printf("® = = %f\n", total/count);
fclose(fp);
return 0;
3

BtH OIE, §& = 2/EoIA/L: (£50/H FZ) 1 KIM 90.2
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Q 0/5, 852 8/E/5lA|R2: (E50/8 Z &) 3 MIN 56.8
O/, 82 ZEAIR2: (E50/H ZF&)-1
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#include <stdio.h>
#include <stdlib.h>

#define SIZE 1000
void init_table(int table[], int size);

int main(void)

{
int table[SIZE];
int n, data;
long pos;
FILE *fp = NULL;

// BHE S =J|3t8tCt.
init_table(table, SIZE);

// O|& =S M| BEZ ALY,
if( (fp = fopen("sample.dat”, "wb")) == NULL )
{

exit(1);

fprintf(stderr,"Z2 = @t WS € == AUSLICH\N");




//HIE=S 0|8 252 U Ol M & etCt.
fwrite(table, sizeof(int), SIZE, fp);
fclose(fp);
// 0|8 ES &I LEZ ALY
if( (fp = fopen("sample.dat”, "rb")) == NULL )
{
fprintf(stderr,"2 & = @&t WS E == SASLICH\N");
exit(1);
}
/1 AFERIE AESE X2 3-8 WL 2R H =Lt
while(1)
{
printf("IHL A2 /IXIE LA AILONWAM %d, S=-1): ", SIZE - 1);
scanf("%d", &n);
if( n ==-1) break
pos = (long) n * sizeof(int);
fseek(fp, pos, SEEK_SET);
fread(&data, sizeof(int), 1, fp);
printf("%d 2 X 2| gt= %d& LICt.\n", n, data);
}
fclose(fp);
return O;

L




/1 BHE S Qe A9 M=2 2 I =2CH.
void init_table(int table[], int size)

{

int i;

for(i = 0; i < size; i++)
table[i] =1 *i;

3 LIRS B2 9YLiT

MY OIS QRIE Y OrYAI R(00IA 999, E2 -1): 9
0 |9 HRARIQ 7t 81T

Y OIrAS YRIE QYT OrYAI R0 999, E& -1): -1
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Prgoram

#include <stdio.h>
int main(void)

{

FILE *fptr;

char name[20];

int age;

float salary;

fptr = fopen ("employee.txt", "w");

if (fptr == NULL)

{
printf("I} Y2 Hde = §l2N\n");
return;

h

printf("A & O|&F: ");

scanf("%s", name);

fprintf(fptr, "O| & = %s\n", name);
printf("LtO]: ");

scanf("%d", &age);

fprintf(fptr, "LtO| = %d\n", age);
printf("E=: ");

scanf("%f", &salary);

fprintf(fptr, "2 & = %f\n", salary);
fclose(fptr);

return o;
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Prgoram 2-1

#include <stdio.h>

int main (void)

{
int number, sum, count;
double average;
FILE *in, *f;
char ch;
f=fopen("numbers","w");

printf("E =2 YOI ctrl+z& FELH\n");

do

{
ch=getchar();
putc(ch,f);

}

while(ch!=EOF);

fclose(f);

in = fopen ("numbers", "r");

sum = O;

count = 0;



Prgoram2-2
while (fscanf (in, "%d", &number) == 1)
{
sum = sum + number;
count = count + 1;
}

fclose (in);
printf ("E=2| 7: %d\n", count);
printf ("d+=2| SHA: %d\n", sum);
average = (double)sum / count;

nxq4 A=

printf ("E =2 Ht: %5.21f\n", average);
return (0);
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